Name: Datum:

Mathematik

@Wundie um in Meter.

a) Tkm&l7ms=

S5kmB35m=
2km10¥ m=
Ekmﬁﬂl]m=__
Bkm &S5m= 3
Bkm 50m=
@Wundleurn in Meter
a) 5260 m = km
g782m= km
8080m= km
3001 m= km
1050m= ~ km
9780m= km

@E-E."E?_E richtig ein: (=), (<) oder (=)
a) 6km 200 m{ )6020m
466 m ()4 km 86 m
1km25m{ )1025m
17540m ()1 km 754 m

@ Rechne.

a) 2km756 m—-105m+ 455 m=

23333 3

3 23 3 3 3

b)

b)

b

3km 6Gm=

10km10m=

16 km =

1Mkm57m=

8km Bm=

JkmBém=

12120m= km m

15050 m = km m

10001 m= km _ m
875m=_ km m

S506m= km m

60006 m = km m

23km () 23000 m

?km‘l?mC‘?ﬂMEm

16 km mamr’ J16km 321 m
5555 m ()55 km 550 m

b) 3kmEm+5km978m~=1040m =
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